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[1~4] 10:00~14:00, [5~7] 10:10~12:10
NS =5 X|H =38 Z3Ni/cc) FZ(/min)
1 FXEH w1 0.000 10.1
2 EXZA M2 0.000 10.1
3 B A M3 0.000 10.1
4 SR ZEA M4 0.000 10.1
5 Epolmp S=] 0.001 10.2
6 Y| T 0.000 10.1
7 22 0.001 10.2
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=5 o |2015. 10. 15.(AlCHE & 25 XAT)
[1~4] 10:00~14:00, [5~7] 10:10~12:10
AR S 58 XH =3 Z3H(f/cc) & (I/min)
1 FRZEA M 0.000 10.1
2 FRZEAHM2 0.000 10.0
3 X ZEAH M3 0.000 10.1
4 SR ZA M4 0.000 10.0
5 i FHA 0.001 10.1
6 A M| 245 0.000 10.1
7 S27| 0.001 10.1
£ 2
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=xi ol |2015. 10. 17.(AkEH 1 2% AR S, BHE)
L [1~4] 09:00~13:00, [5~7] 09:10~11:10, [8~10] 12:00~14:00
AlBHS =5 XHE £ dal(f/ce) F2H/min)
1 2R Z A A 0.000 10.1
2 Bxd@A M2 0.000 10.1
3 BEXZAH M3 0.000 10.1
4 EX|AA M4 0.000 10.1
5 A FH 0.001 10.2
6 M| 7 0.000 10.1
7 =271 0.001 10.2
) 8 H 7| 222X A 0.000 10.0
9 H7|lg22xE2 0.000 10.0
10 HHET 0.000 10.1
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